nam phan s0, thr tu cac phép toan c6 dau ngodc
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Tén: Ngay thang: Piém:
G2~ sG+GM- GG - G+gr-
(G- 375G~ GM- G+ I+ s+ G0
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Tén: Ngay thang: Diém:
1 3, 1 229 49 3 1, 3 3 1,
- — = = — =]— ——(=))X=—(=+=Y =(—
(3 2) ( 3 ) ) 180 180 (5 (3) ) 4 (5 5) ( 150)
2 3, 11 1 3413 1613 , 1 , 1 173 13
-+ )+t (=*+2)= = 3—-) —=+2"—=-=—=10—
(3 5) 2(4 3) 1800 1800 ( ) 2 4 1 16
3 1, 11 1, 7 3 2, 11 1, 5201 1601
)Y ——(=—(2))= — ZHIV+ (= (=)= =1
(5 2) 2(5 (2) ) 200 (4 5) 5(2 (3) ) 3600 3600
2 I 1 959 59 3 1 1 3 1 2027 827
Q=2+ 5 5+2 = =6 G-(PI* 3+ (G5 ==
5 3 2 150 150 2 4 3 5 2 1200 1200
1 3, 33 1 13 2, 2 _, 3 497 11
—— )Y+ —(=+ =)= — 2— )Y —=—+54+_—=—=27—
(2 4) 5(4 2) 16 ( 3) 3 2 18 18
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